XYZz,=98.12,100.0, 86.5

8, =3[ (x=X) /)
bz bylz/y
=1, b,y =04

X, = 0,110, B, = 1,000

— 2
Cogs=[A+B;]
6 OstwaldFarben (o)
von maximalem (m)C,g im
linearen Farbenraum (Cyg . Y)
Lichtart P50, Y, =10Q Yy=25
Name Bereich X, Vi 7, % Yy A A
R, 570_775 712 5315 21.74 '0.4907 0.3584 601 491
V) 495775875 9547 2474 04212 0.4596 573 467
G 495570 40.92 68.42 24.71 0.3052 05103542 542¢

C, 380570 51.57 72.97 86.49 0.2443 0.3457 491 601 Parameter:
B, 380_495 35.27 29,64 83.49 0.2376 01997 467 573 Y & Name
M, 570_495 81.85 56.7 8352 03685 0.2553 5420542 i
570,
W,,380_775 98.12 100.0 865 03447 03513 100% Lichtart P50
N, 380775 2453 250 2162 03447 03513 25% Y,,=100 Y,=25

7, 380_775 1766 180 1557 0.3447 0.3513 18%
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